'5-30 points) In the common emitter amplifier shown,
beta=100 and VBE(on)=0.7 [V] and Va=infinity.
a) Find IcQ, rpand gm .
b) Find C1 so that the lower cut-off frequency is 200 Hz.
(CF is open in this case)
¢) Find CF so that the higher cut-off frequency is 20 Khz.
(C1 is short in this case)
Note: Cand Cl.of the BJT are not effective in this frequency
range.

(5 O\\L*\—a N

F\(‘Y"W“’— ﬁw‘-OL & T
Rc[IC+ [B]+KF[5+0.7 :I/CC fg.:_____

@)

T,. Ica =0 84 mA

M= 3k Y = 34 T

1k C |
@ R:::__ RF T
+9,, R, m % G\% M %@nﬂﬂ Re
E\L = RL B 24 | ) 2

?\F’:‘ (o0 :0’143 UA 0.3 ke
34\
Rt\‘-: R‘F //rﬂ = U»Bk//31= 0»9»7[/(#]
‘ ‘ ka
Resistance &MLJ 0 15 P = K R o lr0.27= 127

) ) —
@ ﬁl/ = m RCQ‘CI B 2N Kl_z—’xcl = 200 [C‘ ‘a'ézgw /I/: ]

R—,—=!"f/kf‘ Wi =1003)3= 024 kn 7 I Vi

[, - ,_L_Tczaono Re vﬁqﬁ:? j—({ec
2N ZTRT 90214 Cr |

Cr=237.18 nf

CF—; Cr 3F.(8 e o, Mf

A




